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Read the passage - 'Wendy's Novel' - and answer the question below:

Wendy's Novel

Wendy's Novel
Wendy wrote her first novel. Patrick, a publisher, helped her edit and publish
the book through online retailers.

Patrick developed equations designed to model the revenue that he would
receive from the sales of the novel and the costs that he would incur. The
publisher’s share of the revenue, R dollars, is modeled by the equation

R =5.5n. where n is the number of novels sold. The cost for Patrick to print

the novel and release it to the market, C dollars, is modeled by the equation
€ =2n +2600.

Patrick gave Wendy two payment options for her novel. If she chose Option
1, she would receive a $1,000 payment immediately, and then she would
earn $0.65 for each book sold. If she chose Option 2, she would receive no
initial payment, but she would earn $1.05 for each book sold.

When Wendy’s book was released, the sales of the novel started off
moderate, increased at a steady rate for the first week, and then decreased
at a steady rate. The daily sales of Wendy’s novel, s, are modeled by the
equation s = —40[x—7[+1000, where x is the number of days since the book

was released. For the first 21 days after the novel was released, Patrick’s
model was accurate to within 3% of the book’s actual sales.
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1. Read "Wendy's Novel" and answer the question.

The table displayed below compares the money Wendy would earn using
Option 1 versus the amount she would earn using Option 2. The
relationship between the amount of money Wendy would earn and the
number of books sold is linear.

Books Sold Option 1 Option 2

10 $1006.50$10.50
100 $1065 $105
1000 $1650 $1050

Wendy graphs the difference of her earnings using Option 1 minus her
earnings using Option 2. What are the x-intercept and y-intercept of the
graph, if either exists?

A x-intercept: 2500

y-intercept: 1000

B. x-intercept: 2000

y-intercept: —1000

C. x-intercept: 400

y-intercept: 1000

D. There is no x-intercept
y-intercept: —1000

2. What is the y-intercept of the line that passes through the points (1, 0) and (2, -2)?
A _2

3. Which quadratic function opens upward and has its vertex at x =67
A Ay =—4x? +48x — 18
B fl)=—2x2+ 24x+12
C flx)=3x"—36x+9
D fe)=6x"—8x+5
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4. In the graph of the equationv - xl T which expression represents the minimum?

A ( a. az]
B. (_ a. az]

(—m —c;r‘j‘]

D. It has no minimum.
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5. Which graph best representsgy —Axr =77
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6. The roots of the quadratic equationxz + 2% — 3 = (can be found using which of the following
parabolas?
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7. What are the coordinates of the x-intercepts of the parabolay =x2 —8x+ 157

A (3,0)and (5, 0)
B. (3,0)and (-5, 0)
C. (-3,0)and (5, 0)
D. (-3,0)and (-5, 0)

8. Which graph representsy )
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9. Which is the graph of y
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10. Which of the following is the graph of:,.- =2x + 47
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11. Which of the following graphs has roots at_sand 3?
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12. Which graph representsy
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13. The graph below represents the functionf(x) gl .
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Which statement is true?

A

B.
C.
D

The point (0, 2) is an x-intercept.
The point (2, 0)
The point (2, 0) is a y-intercept.
The point (0, 2) is a y-intercept

is an x-intercept.

14. Which graph best represents the equationy, = —3x + 67
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15. What is the y-intercept of the graph of the equation., _ (x r 3).2 L7
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17. Which grid correctly shows the graph of the equation shown below?

Ix+y=6
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18. Which of the following graphs represents the equation ;- — 3y= —g?
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19. Which of the following is represented by a graph that opens downward and has its vertex at (8,
36)?

A y=—8x?+36x
B y=36x"-8x

1
c y:—5x2+ Bx+4
1
D. y= Exz —8x+4
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20. Which graph represents the function,

]

S oer = o

T =

%

%

Page 21 of 142

a schoolnet

F-IF.7 NEW



=187

21. Which graph best represents —8x + 2y
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22. Which of the following could be the graph of |, _ ﬂl & Pk = 0and b =07

A ¥
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L. 8

23. Which table of x- and y-values is best represented by the graph below?
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24. Which is an equation of the function graphed below?

y=x2—4x
y=x2+4x
y=x2—4

y=x2+4

y

4
G
5

.
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25. This graph shows a quadratic function.
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Which statement is true about the function?

A

B.
C.
D

The function has a zero at (0, —2).

The function has a minimum value.

The function has a range of all real numbers.

The graph of the function has one y-intercept and no x-intercepts.
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26. The graph of a quadratic equation is shown in the coordinate plane.
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Which function matches this graph?

A

B
C.
D

y=x'—1

y:x2+l
y=x2—lx+l
y:x2+lx+l

27. Which graph models the function 2(2x + y) = 6?
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29. The graph of which quadratic function opens downward at vertex (2, 5)?
A f)=—xt—4x+1
B- flx)=—x"+4x+1
C fa)=x?—4x+9
D fe)y=x?+4x+9
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30. The graph of xl _ 7is shown below.
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What is the solution if x=0?

A2

B
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31. Which quadratic equation best represents the graph shown below?
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32. This graph represents sy _ o O S
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Which statement is true?

A

B
C.
D

33. What are the coordinates of the y-intercept of the graph of y = 3x-6?

A

B
C.
D

34 Which is the graph of - _%X+ 27?

A

The line of symmetryisy = 1.

The line of symmetry isy- — 1

The x-intercept is 1.

The y-intercept is 1.

(2.0
0.2
(~6.0)
(0.-6)

+] +2 +3 +:4 +
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35. Which is the graph of the equation 3x + 2y = 67
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36. Which point represents the root of the function shown below?

'ty f
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A (0.4
B. (2.0
C. (2.2)
D. 4.4

37. The graph below represents the functionf(x} Ve S

—

e
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Which statement is true?

A The function does not have a y-intercept.

B. The function does not have an x-intercept.

C. The x-intercept and the minimum value are at the same point.

D. The y-intercept and the maximum value are at the same point.
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38. Which graph best represents}; + 35 = 12 where h> 0 and p > 0?
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39. Study this graph of a function.
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Which of these equations represents the function?
A fey=x7

B fx)=x?+1
¢ foy=x’

D. flxy=x"+1

40. Which graph is the graph of an equation that has a double root of 3?
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41. Which graph represents 2x — 5y = 10?
F-IF.7 NEW Page 38 of 142

a schoolnet



Hh"\l\._

£ 5 -4 -3 -

EEEE=E

Page 39 of 142

Q schoolnet

F-IF.7 NEW



O
-

7
A
1 y
. “"'f-.r
76 543210 12 ¢ § 7
4 =
_ﬂr’
- 3
L= z,
- 5
i
T

42. What function is represented on this graph?
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A fay=2-1
B fy=x"-1
C fey=22+1
D fy=xt+1
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43. Which graph best represents-- — Sy= 107?
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44. Which describes the zeros and maximum of this graph?

L3 Sa BN ON S 0D AD

—-,____“__-'

|
| |
¥ '

Zeros are —2 and 2; maximum is 6.

|

B L i b s S

Zeros are —6 and 6; maximum is 1.
Zeros are —1 and 1; maximum is 2.

oo w>

Zero is 2; maximum is 0.

45. Which graph best represents a line that passes through the values in the table below?

x|y
1
1 -2
2 -5
A ¥
?
= 3
I
i of 3
=L
EREERN: M= i
“
5
+
7
F-IF.7 NEW Page 42 of 142

a schoolnet



x

X

£

2 34 56789

2 3 4 58678

2 3 4 56789

A\

-1

T

o oY =

Page 43 of 142

a schoolnet

F-IF.7 NEW



46. The graph of a quadratic equation is shown.
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Which function matches this graph?

A f)=x"+ 10x + 21
B. Alx)=x?— 10x+21
C. fr)=x*-x-20
D. Ax)=x*+x-20

47. What is the equation of the line below?

¥
s
1
kil
|
]
1
EEE) -4.\2-1_1'31'J 4 586 78 ~
B |
-
|
4
!
A 1
=—x+2
i s
B. 1
=—x-2
Y s
y=2x+2
D. y=2x-2
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48. Which graph best represents the functionf(x) B
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49. Which graph shows a quadratic function with roots of 2 and -2?
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50. What are the coordinates of the x-intercepts of the graph of y; = (- — 3)(x + 2) 7

(3.0) and (2, 0)
(=3.0) and (2. 0)
C. (0,3)and (0, —2)
D. (0. —3)and (0. 2)

w

51. Which graph best represents the quadratic function f(x) = 2x*+5x —6?
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52. The costs of purchasing various numbers of notebooks are shown in the table.
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Notebook Costs

Mumber of
Notebooks Cost
2 53
4 56
6 59
8 $12
Which graph best represents the information shown in the table?
A Notebook Costs
¥
E Y
12
11
10 ~
_ % ¥
E 7 7
- 6 " Ll
Q5 .
O 4 i
3 -
2 -
147
=1
0 12345678910
Number of Notebooks
B. Motebook Costs
¥
F Y
12
11 #
10 -+
a 4
= £
L 7 ;
= B
o s y
O 4 i
¥
ST
144
1
0 12345678910
Number of Notebooks
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C. Notebook Costs

=

Cost (3)
el i R = N N e ]
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D. Notebook Costs

U

'

-
na
' |

—
=i

o

&

Cost ()
-*l\)(.l}-h(ﬂm“dmlﬂa

I

o

12345678910
Number of Notebooks

53. Which coordinate pair represents the x-intercept of the graph of the equation3, — 2y, = 12in the
coordinate plane?

A (-6.0)
B. (0.—6)
C. (0.4
D. (4.0)

54. Which graph best represents the table of x- and y-values below?

X ¥y

-3 | 10

1| -6

| =8

2| o
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- hZ.Which graph shows this function?

55. Candice graphed the function‘}J
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56. A flying disc is thrown up in the air. The graph below shows its height
after t seconds.

HEIGHT OF FLYING DISC
OVERTIME

Height (in feet)
S

I Y Y O L ')
123 45678 910
Time (in seconds)

Which of these statements is true?

A The disc reaches its minimum height of 5 feet at 20 seconds.

w

The disc reaches its maximum height of 5 feet at 20 seconds.

C. The disc reaches its minimum height of 20 feet at 5 seconds.

w)

- The disc reaches its maximum height of 20 feet at 5 seconds.

57. Which graph represents the quadratic function & =12 99
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58. Which of the following graphs represents the quadratic functiony =(x- 2}2?
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59. Which graph describesf(x) SR N O |
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60. Which graph describesf(x}

Page 57 of 142

Q schoolnet

F-IF.7 NEW



[ [ [
- - -
P B
ey . — - 2] s
— i - . L
i - i -
.
~L My
E @ R I E A N B e i E R B R Im\... T W A P e
. A A
= (s % (s
7 =
¥ ¥ 1 ¥
k=T A i~ =3 -Il.llli =
it it it
o5 o5 o5
& & &

Page 58 of 142

Q schoolnet

F-IF.7 NEW



O
-

B
7
5
4
i
2
l;
| x
IEEEEREEE 23 4 5 8 7 ]
Ly
; |
i
4\\;
7
-8

61. Which graph represents the quadratic function}J =(x— 5}2?
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62. Which graph represents the equationy ZIZ?
A ¥
7
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,-"f 2
]
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2 /jf
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5
)
7
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63. Which of these graphs has roots of — 2 and 2 and a minimum of — 4?

F-IF.7 NEW Page 61 of 142
a schoolnet



fa fe] fal

- - -~

- -

L] o v
_I-I....tl. P —“--.

== o =3 = - & i = T o= |

..”u.\l.-\-. e " __-..- ..”1 -_..r-
(A (A [

T ¥ !

' i i

% o X o ok

L = "

L] L ]

4 T [ i

Page 62 of 142

Q schoolnet

F-IF.7 NEW



¥
b
B
K
B
5
4
3__"____,_.
" BT B 5o 20 1 234567688 ]F
-"'-...- o ]
-TL"-..__
3
4
-5
5
7
8
|
F-IF.7 NEW Page 63 of 142

Q schoolnet



64. Which of the following is the graph of the functiony = (x — 1)(x — 4)?
A ¥

+ b =1
()/|

— ]

- = =1
" 1\/

65. Which quadratic equation has a graph with a minimum at (-2, 5)?
A : 2

B v'=xl+4x+9
2
Cy=x"+3
D }'=x2+5
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66. Which graph best represents the equationy =(x— 3)2 SN
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67. Which choice is the graph of f(x) = P + 2x + 47
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68. Which graph best representsy

F

A
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| b | |
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69. What are the coordinates of the vertex of the parabolay =x2 e i
A (-4.6)
B. (=2.—10)
C. (l 6)
D. (4.-6)

70. The graph of a function is shown.

Y
y
S\
1
X
il*5‘4|'3'?‘1113|I Yy 3 4 5}
=2
-3
-4
What is the y-intercept?
A -B
B. -2
C. 2
D. 3
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71. Which is an equation of the function graphed below?

+ ff
'|

*Ii.'ll'.“l

4

f 2
+ 1
IIIII

- > X
1079 B 77 6 5.74/3 2710 14243 44 45 46 47 4849 410

[ i I
L T T Y v L I

|
[
(=]

i
i

A y="x%+8x+ 15
B. y="x°+ 8x - 15
C y=x*+8x-15
D. y=x2+8x+15

72. During a physics experiment, a ball is tossed and its height in feet,
y, after x seconds is recorded. In the graph created from these data, the
function is parabolic in shape and has a y-intercept at x=5. an x-

intercept at ¥ =2.1. and a vertex at [1.21]). Which statement is true of the
ball in this experiment?

A The ball is in the air for about 5 seconds.
B. The ball is thrown from a height of about 2.1 feet.
C. The ball reaches a minimum height of about 21 feet.

D. The ball reaches a maximum height after about 1 second.

73. Which graph represents;- + Jv=-67

F-IF.7 NEW _Page 70 of 142

a schoolnet



T

7

5

=5 §

2 3 4

3

Y

k4

Y

=1

0

-1

-7

¥
'y

0

-1

=T

2

-3

3

5 -4

=5 -4

< 5 o4 ) 2 -1 0

B

£

i

=

Page 71 of 142

Q schoolnet

F-IF.7 NEW



O
-

F Y
7
]
§
3
2
i
3%
g & 4 2 -4 10 2 3 4 5 6 7
<t
L7 H
u ]
s =
&
&
-7
L 4

F-IF.7 NEW Page 72 of 142
Q schoolnet



74. Which of the following could be the graph of |, _ .2 . = - gande= 07

A ¥
5 - X
B. ¥y
L
5 - X
C. y
L
- X
U\/
D. ¥y
L
/' '\\ ..
o
F-IF.7 NEW Page 73 of 142

a schoolnet



75. Which quadratic function f (x) is best represented by this graph?

-3 oo o

—
L]

s
&
4
&
<
b
&
P
E P

o L b bl &

o

J@) =—4x - 1)2x + 3)
FE) =30+ DB3x-2)
JG)=-2(x + 1)2x - 3)
Jx)=—6(x — 1)}(2x - 3)

oo w >

76. Which choice is the graph of 2., + 1,,_ 3 ?
grap K to¥=7

A y
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+7] 1
+5 !
+5 .
L+g)

. S
—

+1

— |
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77- Which is the graph of 2, _ 1, _ 1?
3 4 2
A y
\ F'y
A\ -
\
%
+1
« \ - X
“B-7 65 -4-3 -?'l_? A1 42 +3 +4 +5 +{ +7 =R
S
o \
4
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78. This is a graph of a quadratic function.

L [
: |
7
B
| o
| Nl
\ T
\ '
FEEEF -4--.-2' "']'Iaifiix
| L
\ U
\ o
.1|' -'u'
-8

Which function is represented by the graph?
A f)=x>—4x+5
B flx)=x?—4x-5
C flr)=x*+4x-5
Do Ax)=x+4x+5

79. The graph below represents the functionf(x) S e

-

—

j—
| "]

—_—_..___“_-

|
v

Which statement is not true?

&
L
¥}
b

&

- :J&lihkt;lr{iw?wlﬁhmmﬂmﬂ

3

-
"1
"

="

A The function has two x-intercepts.
B. The function has two y-intercepts.
C. The function has a maximum value at (1, 2).
D. The function has a line of symmetry at x = 1.
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80. Which is an equation of the line graphed below?

4
& T &
..+5 B I E— I
+4
+3|
+2
4]
5 a3 P 10| 123 a5 %
=1 |
-
=3
=4
'|r L 3
B y = “2x
D. x = _2y
81. Which graph represents;- — 3y =57
A
7
4
1
i .‘H - x
"7 6 5 A3 2 40 1 23 4586 7
|
2 -
3 ]
w1
5
£
7
w
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82. What is the equation of the algebraic function that is shown in the graph?

¥

— p3 B4 & wm oOR o m

e b da i X

& 4 4

A S =R
B fy=x"
¢ fey=x
D. f(x)=J%

83. The graph of =x2 — 4y + 3is shown below.

y

J—
=4
— |

—a R
-
[

T A e

Based on this graph, which point is a root of the equation x?‘ il P e

A (0. 3)
B. (1.0
C. (2.-1
D. (4.3)

84. The roots of the quadratic equationxz — 2% —3=(can be found by using which of the following
parabolas?
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85 The graph below represents the functionf(x} —_ )
= .

E
8
7
B
5
PanY
| \
FFEEER] -.-_El 2 s 78 9 |
i \
712 \
F -4
I \
-
e \
-8
.‘ =4
Which statement is true?
A The maximum point is (2, 4).
B. The maximum point is (4, 2).
C. The minimum point is (4, 2).
D. The minimum point is (2, 4).
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86. Which graph best representsy
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87. A punter kicks a football into the air during practice. The graph below
shows the function that represents the height of the football with respect
to time.

v PATH OF FOOTBALL

o

& o~ &

Height (in meters)

= h L S 0

0 0.5101520253.0354.0
Time (in seconds)

What is the maximum height the football reaches after being kicked?

A 1.5 meters
B. 3 meters
C. 3.5 meters

D. 7 meters
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88. Which graph shows the solution fory =x2 i 25when}.- =07

A
Hal
T
1
1.,

(5. 0)1°[1(5 0)
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B ¥
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i
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B 033 L
i
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o A
,
D y
"mn-n«uslu-:_fl EEEEE N
4N (5, -5)
i
1
F |

89. Which is the graph of 3x + 4y = 8?
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90. Which graph below represents the equationy =y G457
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91. Which table of coordinates is best represented by the graph below?

¥ I r
I' B
7
B
|
V- i
1 |
T [
‘141-'-4-J4«-1-r_1i:-11= EEEEN
1\_3 IJ
W /
4 i
f
§ /
B
A
x|y
-2 0
0 -8
2 -8
4 0
5 7
B.
x|y
-8 7
-2 0
0 -8
4 0
5 5
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92. Which of the following functions does the graph represent?

AR
7
i
o
Y
2
i
+ "'! X
:'15-5--1-:;2-1:_{3I 1 2 3 45 86 71
2
-4
5
£
T
B. _}'=3I2
C. y=3x3
D. y=3|x|
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93. Which graph represents_—3 + v+2=07
A
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ah e A 0 D
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94. Which graph represents x — 2y = 6?
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95. The graph of}, =x2 +4x + 3is shown below.

|
/
/

/

P o T L T N |

S b b fs fe e

4

Based on the graph, which point represents a root of the equationxz Ayt 3 =07

A (0.3)

B. (_L [}j
C. (2.1
D. (—4.3)

96. Which graph shows the solution for

y=4

_IE wheny — (7
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97. The graph of}, - —x?‘ gl 3is shown.
7
]
5
4
3
2
1
:?5-5-4-32-15' 2 as$?=x
MR
2y \
\
\
_-,. \
Based on this graph, which point is a root of the equationy o —x?‘ 0 .|
A (0.-3)
B. (2. 1)
C. (3,0
D. (5, -8

98. Which graph represents the quadratic functiony =(x— 3}2 —49
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99. Which points are the x-intercepts for the graph ofy o lxz s By a9

>

(nl %) and (0. -2)

s8]

0, —%) and (0, 2)

(@)

O

b | =

g
: Gj)and(—z:m
i

: n}) and (2. 0)
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100. Which graph shows a line with a y-intercept of (0, —3) and an x-intercept of (6, 0)?
A

i

R N ) -
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i P —‘-z-h:.:-h;-u-q 0 i

i

e i =i ol

i

b L b e e Sl e e e "‘E‘:" X

LR N

L

b o 5 b b £l e o] e b

101. Which is the graph of y = 3%7
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102. For which domain is the graph of the function y = sin x symmetrical?
A D=x=<x

B D=x<2rn

C. _E{I{E
SRR |

D. g<x<q

103. Which graph shows the function fl{x) = —In{x-2]7
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104. The half-life of a substance is the amount of time it takes for half of the atoms in a sample of
the substance to decay. The half-life of cobalt-60 is 5.26 years. If Joan has a 100-gram sample,
which graph best represents how much cobalt-60 will be left after 30 years?

A

o

Amount of Cobalt-60
(grams)

Amount of Cobalt-60
(grams) (grams)

Amount of Cobalt-60

Amount of Cobalt-60
(grams)
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0 4

0 10 20 30 40
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105. Which equation has a maximum at y =5 for) = .- < 2,9

A v=smn(5x)

B. . fx)

y=sof3)

L)

C. v=>5snx
D. sinx

b
I

3

106. What is the x-intercept of the function: y =log(x+5)-37?

A —1,005
B. 955
C. 1,002

D. 4,995

107. How many local minima does the function, — mf‘['f]have in the domaing =, < g7
i \ 2, T

oo we>
© AN -

108.

Which describes the end behaviors of the graph of V=

i
| +2?

f1°
Y

A as x — o, l},e_;.zand as x —»—roo, ¥ — 00

B- asx —oo, ¥ —»omand as x ——m, y —-2

o

as x —om, ¥ ——2and as x —-w, y ——w

D. as x —o, ¥ —womand as x - —m, y—2

109. Which equation, when graphed, is an exponential growth function with a
y-intercept at 2?

Ay =2x
By =2(2)"
C. y=2(0.5)%
D.y= X2 + 2
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110. What is the end behavior of the graph shown below?

ENEIEIETE] (ecaam"'

A f(x)—= oo asx—0Yandf(x) = oo asx — oo
B. flx)]— oo asx—0Tandf(x)—~ —oc a5x = o
C. flx]=+—oocasx—=0%andf(x]—~ = asx - =

D. flx)= —oc @asx—=0tandf(x)— — o asx =

111. Jessica graphs a sine function that has the features listed below.
e Period of 1T
o Amplitude of 4
o Midline of y = 3y =3

She claims that the function f(x) = 4 sin(rx] + 3f(x) =4sin(mx) + 3 has all
of these features. Is this the correct function for the graph? Why or why
not?

A No, Jessica’s function has a period of 2.

B No, Jessica’s function has a period of 4 and an amplitude of ..

C. No, Jessica’s function has an amplitude of 3 and a midline of ¥ = 4.

y=4.

Yes, Jessica’s function has a period of 1,7, an amplitude of 4, and a
midline of ¥ = 3.V =3.
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112. What is the y-intercept of the graph of y = 100(2)X -5?

A (0, 75)
B. (0, 45)
c. (0, 95)
D. (0, 195)

113. Which coordinate graph shows an exponential function with an x-intercept of —7 and a y-intercept of — 3

A
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C. ¥
N4
3

1= >

X

N 1_1t_JI SRR
-2
-3
-4

D.

2 r
1
X

45 4-3-2-10 1 2 3 4 5""

1

-2

=3

=4

114. What is the x-intercept of the function y = 4(2)% - 16?

A ("16,0)
B. (78, 0)
c. (2,0)

D. (4, 0)

115. 3
Which graph represents the function f{x)= - 5CDS(%XJ+1?
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A AIECEL T AN FEA7 AL 7 AN
I_l
I—2
I‘d
T
|

A v=sinx

B. 1p=secx
D y=—x2
F-IF.7 NEW
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117. Which is an equation of the function graphed below?

Yy

+10)

&

1079 "8 77 C

4 "3 "2°

+

10

1 +2 +3 +4 +5 +6 +7 +8 +9 +10

=10

NERCER)
— o(x+3)
C. ys= 4x+1)

D. y= 4(x+2)
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118. Which is an equation of the function graphed below?

L 4

A

3"2°

+2 +3 +4 +

5+

G+

7+

8 +9 +10

[ |
L B =

!

i i
v Lun

-

-9

Ay=2%+2
B. y="2X+4
C.y=2(2)"+2
D. y="212)"+4

=10

119. On which interval is the function fi} = 3 sin{2x), 0 < x < 7, decreasing?

T
A D{x{I

B. im
— X<

4
C. mT 3
4 4

D. T
X<

2

F-IF.7 NEW
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120. Let x represent an angle measured in radians. Which of the functions increases over the
intervaly < 4 < 77

A G0 =sin()
" )=l
C. f2) = cos()

A=t

121. Which function is represented by the following graph?

¥
B
T
&
5
4
1=F=F==Fﬁ='-| ;
-EI-I-F-!-ﬁ-d-\.-ﬂ-t_ElI? 4 58 7 9
-3
-4
£
-7
-B
A y=2x+1
B. y=2"+1
C. y=x2+l
D. y:x3+l
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122. The exponential graph, f(x), is shown below.

-~

80

70

60 /

50 /"

40 _

30

L.

Which statement best describes f(x)?

A The function increases at a rate of 104%.
B. The function increases at a rate of 14%.
C. The function increases at a rate of 4%.

D. The function increases at a rate of 1.4%.

123. \Whi : b
Which graph represents the equation y = (l) 5
5]

0 4 8 12 16 20 24 28 32

A ¥
Y S
8
&
4
2
-~
P‘-’ X
32100 1 2 3}
-2
-4
[y
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124. Which graph is an exponential function of the form, — p*where b is greater than 1?
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o e I

5 wd =3 o

5 wd =3 o

A f =] o

A o T oE

A f =] e
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125. Which graph represents a function that has an amplitude of 1 and a

period of m?
A ¥
4
N RN
‘ | |
3
4 1
I - o
Sl s [y Tely
| |_.I | |
|
I—E
I—E
I—-ci
T
-5
B. ¥
'y
i N RN
4 | |
a
"‘ a
P 2N,
) !
|
b ; N 7
7% I B Ty
!—Tr':r'"—'r—i- FTaéTQﬂlg
|_.I | |
|
I—E
I—G
I—-ﬂi
|
]
 J
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&
4
a
/ f\ J/ A
1
e = - X
RV eV S F-TWhg T
I_1
I—e
I—a
I—d
-5
:
D. ¥
' Y
4
a
AY
\ 1 t
Y I ," LY I
7 -2 - —%L ITH w 3’.!“' 2
-1
I
I—e
I—a
!—d
-
 J
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126. Which is an equation of the function graphed below?

y

r
+54;
45
+4 /

+

2
edk
6 -5 -4 -3 2 —1c1| T2 3 4 5 16 %
-2
-3
-4
-5
-6
]
A y=3%
B. y=3%+2
c. y=3(2)"
D. y =2(3)
F-IF.7 NEW Page 119 of 142

Q schoolnet



127. The graph ofy = k;.ggxis shown below.

¥

09 -
04

o7 f"
08 Z
05
04
03
0z
ot
q X
0.1
02 I:'-
Rk}
0.4
0.5
06
0.7
0.8
09
.1"

If x is positive, what is the solution to the inequalitybggx = :_la?

A =3
B. x>45
C. Dex=<3
Do Dex<45
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128. Which function is graphed below?

+1
111:1 9 TBT7 7675747372 ‘1}::/4/+2+‘5 +4+5 t+7 +35 +g+m"' X

F10

A fx) = 2062)
B. f(x) =2%-2
c. fix)=2%-1
D. fix) =2%-1

129. Which graph represents a trigonometric function with an amplitude of 27?

A ¥
A
-]
al 11
[T NN
[ ALY T LY (AR VT )
| JIit i
NEv W SR [52 v sty
Hx fEa " I0x ) a K 2x f 3x §ix | Gx
W i Vi |\ vy i v
\/ BV ANELVANNAYIN
__Iﬂ !
I_d.
T
-]
Y
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Bx

A
I\

\
\l

Y

A

x| 3x fiw

-

\J

[T

2x | 3w | 4w

o

X

Bx

2af| 3x [Leix

k.4

f

V1

[l

e 3 ]

1\

Yoy

.
I\

=Tl BT

Ty | dw | 3w | A

ETILT
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130. Where does the function, — -qs ['f]have a minimum within the domaing < ,. < 2,7
i \ 2 T ’

@] w
Hobka e e

o
rJ
£

131. Tracy is on a bowling team. In her first tournament, her average score was 125. She increased
her average score by 20% in each tournament after that. Which calculator display shows a
graph that best represents Tracy’s bowling scores in her first 5 tournaments?

A 300

\

100

)

B. 300

\

100

—
tn

C. 300

\

100

L]

D. 300

-

100

-
n
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132. Which is an equation of the function graphed below?

++15

—+ 7

b

Lad

4=+ 2=

L 4

I

3271

1 42‘3 +4 45 +

6B+

7 +8 +9+10

P
L B =

-4

i i
v Lun

At

g
=10

A fix)="2"+4
B. fix) ="2"+5
C. flx) = 2x+ 4
D. f(x) = 2x+ 5

133. How do the graphs of y = 2X and y = 27* compare?

A They are the same.

B. They are reflections of each other across the x-axis.

C. They are reflections of each other across the line y = x.

D. They are reflections of each other across the y-axis.
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134. Which of the following functions increases the most over the intervalp = . = 7
A flx)=snx
B. flx)=2sinx
C. . f x)
£y = sin| 3|

D. fix)=sinx+2

135. What is the y-intercept for the graph of the function f(x) = 30(1.05)X?

A D
B. 1
c. 5
D. 30

136. Which of the following statements is true about the graphs of a linear function i) = mx + b
and that of an exponential functiong(x) = a5 wherea>0 anda # 17

A fhas a constant rate of change while g does not
B. g has a constant rate of change while f does not
C. both have constant rates of change

D. neither has a constant rate of change
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137. Which is an equation of the function graphed below?

4
&
4 i L +g
feq
{ . . | +6

|
!
/

"8 T7 7B 5 7473 °2°10[ 14274344745 %6 47 B

=7

>
-
| =
.
=
+
—
o
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138. Which exponential function represents the graph?

¥
4
6
+5
.14
+3
+2
I i 1] t '+l i ] i d
“6 "5 -4.:;:,1\-‘1\0 +1 +2 43 4 +5 45
-1
-
—4
-5
D
A flx) =28
B. f(x) = 2%
C. f(x) = 2("2)*
D. f(x) = ~2(2)*
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139. The graph below is of the form f(x ) =a +bsin(cx] where a, b, and ¢ are non-zero real

numbers.

>

20
T19
18

H ok W A R~ O W

‘109 87654 °3-2-10 1 2 3 4 5 6 7 B 9 10

"1

Y

Which values best approximate the values of a and b?

A

w

o

a=12andb =5

a=12andb =10

a=17andb=5

a=17andb =10

=X

140. Which function has asymptote at,. _ 7.9

A s 58
E Sm[_zJ

B. (x
=t —

=t 2)

(o
s
b. V=cCo :x)
y=cot;
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141. Which is the graph of y = ~2(2)*?

A
Y

L
8
7
+
+5
+4
+3
+2
#

= -4_-1'11;1_5" +1 42 +3 +4 45 +5 +7 48

]
~3
S
S
M
"B

L J

B. ?r

8

=7
+5 -"r

e

"8 "7 65 "4°3 "2-1 0| *1+2 %3 +4 15 *§ *7 7§
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¥

*8

+4
+3

+2

___,..-
e
¥
-

"B -7 65 4°3 -2 K0| L +2+3 4 45 5 +7 48

8

G

+4
+3
+2

*1

+
=
+
B
+
W)
+|
@
+
i
+
==

w

876543210

~4
-]
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142. Which is an equation of the function graphed below?

3 +4 +

5 6t

7R

=7

A Y= 2{X+3}
C. Y = 3{X+2}
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143. Which is an equation of the function graphed below?

Y
A
1 LI B |- |

| g
e

+7 JII
gl /
+5—
gl f

— T '+3/' — 1
- - - . s - o 2] } | | | !
+1

- X

1078 B 7 T 5 "4 T3 T2 710] %1 42 43 4 +5 4+ +7 4B 45 410
il | P - i h

Sl
:
— SR T
5
i
7
[ I

=10
.

A y=2X_1+3
B. y=2X+1—3
C-y=3x_1+2
I:)_y=3x+1_2

144. What is the y-intercept of the graph of f(x) = 2(1.5)X + 37
A2

B.

3
C. 4
5
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145. Which is an equation of the function graphed below?

g

1079 "8 "7 675 74 73 "2710| +1 +2+3 +4 +5 +6 +7 +8 +9+10

-9
=10

A y=4%
B. y= 4%
C.y=4%+1
D. y=4%+1

146. Which graph is defined by the function equation,, — (3% 7
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o L bbb Lo

147. The graph of y = cos(x) is symmetric about which geometric object, if x is measured in radians?

A the x-axis

B. the y-axis

C. theliney=x
D. the point (0, 0)

148. Which graph shows two sinusoidal functions with the same period, but
with different amplitudes?

A ¥y
&
3
NN
* o 11\ ",‘”\‘:‘ >
3
L)
B. y
&
I T
iR
N
-+ : 4 1". 4 1
im -'].F'?-" .!.':2' 5 i .‘J
L
d
Y
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c. y
&
AN
Al A

- i id
-

a | s
T

]

+n .
7

|
g Ci

Y

-

+ 4 _hr-J

149. Which graph represents the function flx) =37*+47

A ]
LIy

[}

v

o

&

)

F-IF.7 NEW Page 136 of 142
Q schoolnet



K

o |-e [-e |- -2 o | d [ g Lo

-2

i

L

I

g

i

A

|

T

-0
:
C. ¥
' Y

10

|
a

\
[

1
il.
2

1

R IEIEYE] 2 |2 16 8 Lo

[

&

)

14— —

o

L]
—

B

[

&

o

1 —————

(=]

150. Which graph best displays an initial population of 30 cows that is
doubling every 5 years?
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A f(x)
100

80

60

40 —

Number of Cows

20

0 2 4 6 8 10
Time (years)

= )
100

80 %
/

60

40 -

Number of Cows

20

0 2 4 6 8 10
Time (years)
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© f(x)
100

80
60

40

Number of Cows

20

X
0 2 4 6 8 10
Time (years)

O (9
100

80
60

40

Number of Cows

20

X
0 2 4 6 8 10
Time (years)

151. Which of the following functions does not have an asymptote?

A 1v=rcosx
B. wy=tanx
C. y=cscx
D. v=cotx
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152. Which statement is true for the graph of the equation o= a7
A The graph has no x-intercept or y-intercept.
B. The graph intersects the x-axis at (1 : [j) but has no y-intercept.
C. The graph intersects the y-axis at (D, 1) but has no x-intercept.

D. The graph intersects the x-axis at{] = (J)and intersects the y-axis at((J, —17,

P
153. Upon which interval is the function () = 4;05[ _ix |increasing?
Nt oS
A Dex<x
B Dex<2x
C. mex<4n
D.

r<x<dm

154. Which graph best represents the function f(x]) =log(x]-17

A ¥
1
10
8
6
Fl
2
T 1] 2
B. ¥
'
10
o
6
Kl
2
_— f_-_._ﬁ-_
0| -8 | 4 ] R s
-}
8
10
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155. The graph displays how an investment, y, increases 5% every 12 days,

X.

Value of Investment ($)

2,000
1,800
1,600
1,400
1,200
1,000
800
600
400

200

Investment

45 90 135 180 225 270 315 360 405
Days

Which equation best represents the graph?

Ay 60(1.05)i2

B - 1.05(60)12

. y=1.05(600)12

Dy — B00(1.05)1i2
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